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[(BFITIWA] MEBI1=7ERIVS  2019.12.27

S5 iR E % R (gufsr) (;;:g) (Hii) (fﬁ];) a5 NBfiz

Th % o = 2 12 16 16 12 56 1
=EYE K T = 2 16 8 12 16 52 2
T *E A = 2 4 4 16 12 36 3
=EEH 51v | mk = 1 4 8 8 8 28 4
AT TE BE R = 2 4 4 8 8 24 5
AT TE ZE BA = 2 4 4 8 8 24 5
=EEH 51v | |wI *# = 1 8 8 8 24 5
=EYE e = 2 2 4 16 22 8
=EYE Wit £ = 1 12 4 16 9
ZFAWR it men = 2 2 2 4 2 10 10
ZFAWR e = 2 2 2 4 2 10 10
=EEH sv |mA R = 1 2 2 4 8 2
Th =5 18 = 2 2 2 4 8 2
T B #A = 2 4 4 8 2
T s @R =D = 1 4 4 8 2
=EYE B 0 2 2 4 4 8 12
TASE nll BE = 2 4 6 17
A HE fRE 15 = 2 4 6 17
=R ik TEA = 2 2 2 6 17
Ty KA WA = 1 2 6 17
=EEE It ek = 2 2 6 17
s |wes A = 1 4 2

TR o TN = 2 2 4 2
=EYE WF T = 2 4 4 2
AR B E=H = 2 4 2
SEE W EBt = 2 2 2 4 2
TR |wR = 1 3 27

YELL |FH ##&H E:] 1 3 27

=5 s —i = 2 2 29
Ty KE 2N = 2 2 29
T4 it s = 2 2 2 29
TR WE WL = 1 2 2 29
TATIEE AH IR = 2 2 2 29
TATIEE 5T = = 2 2 2 29
TATIEE A R = 2 2 2 29
TATIEE A fRAED = 2 2 2 29
=EYE B Rk = 2 2 2 29
=EYE it B = 1 2 2 29
— Bk mE = 2 2 2 29
e vem =H = 2 2 2 29
TASE B EA = 2 2 29
TASE M B = 1 2 2 29
TFAWIR it 55 = 2 2 29
TFAWIR A5 FEN = 2 2 2 29
TFAWIR B = 1 2 2 29
TFAWIR P A = 1 2 2 29
B TE 9 = 2 2 2 29
B =5 2 = 2 2 2 29
B T A = 2 2 29
e —ZH = 2 2 2 29
MEBAK7 Lk feth = 2 2 2 29




